Practice MAP Test Questions
Name: ____________________________
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‘What is the measure of angle z in the
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Which is closest to the measure of the angle
shown below?

110°
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A store has a rectangular parking lot that is
100 feet by 120 feet. What is the perimeter of
the parking lot?

A

B
c
D

220 feet
440 fleet

1200 square feet
12,000 square feet
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What is the volume, in cubic inches, of the
school locker below?
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‘Tony had a rope 8.35 meters long. He cut off
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‘Which number line appears to show the dot
1
placed at 32
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Which point on the number line best
represents 1357
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‘Which letter on the number line best identifies
the location of ~67
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‘What is 6050.287 rounded to the nearest ten?

T A= >

6050
6100
6050.29
6050.3
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‘What is the decimal 0.7 written as a fraction?
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AABC s similar to ADEF. What is the length
of DF?

8 meters. E

6 meters

2 meters.
3 meters.
5 meters.

10 meters
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A farmer harvested 14,000 pounds of almonds
from an 8-acre orchard. Which proportion
could be solved to find x, the expected harvest

from a 30-acre orchard?
A 5 _x
13,000 30
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A company makes 5 blue cars for every

3 white cars it makes. If the company makes
15 white cars in one day, how many blue
cars will it make?
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If AXYZ is similar to ASTU, what s the length
of XY in centimeters?
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‘The vice president of sales took a client out to
Iunch. If the lunch was $44 and she gave a 20%
tip, how much money did she spend on lunch?

A

B
c
D

$8.80
$35.20
$52.80
$53.80
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One morning, the temperature was

5° below zero. By noon, the temperature rose
20° Fahrenheit (F) and then dropped 8°F by
evening. What was the evening temperature?

A 17°below zero
B 15°below zero
€ 12° above zero
D 7°above zero
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What is % expressed in lowest terms?
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What is x if 3x =847
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‘This circular stage has a radius of 25 meters.

Which equation could be used to find the area
of the stage in square meters?

A A=25
B A=507

€ A=ma3?
D A=7.502
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‘The top part of this hat is shaped like a cylinder
‘with a diameter of 7 inches.

‘Which measure is closest to the length of the
band that goes around the outside of the hat?

A 101 inches
B 11.0inches
€ 220inches
D 385 inches
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Tn her pocket, Kira has 2 red marbles, 2 green
‘marbles, and 2 blue marbles that are all the
same size. If Kira picks one marble out of her
pocket without looking, what is the probability
that it will be either red or green?

a L
3

[NTTSR,

win




image29.png
B t10w many millimeters are in 20 centimeters?
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0.02 millimeters
0.2 millimeters
200 millimeters
20,000 millimeters.
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A store s selling USA Spirit T-shirts. The shirts
are available in red, blue, and white. Shirts of
each color are available in sizes small, medium,
large, and extra large.
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Aimee will randomly select one shirt from

a shelf. If the shelf contains equal numbers
of shirts in each color and size combination,
‘whatis the probability that Aimee will slect
a large shirt?
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Bl which expression betow has the same value

asx3?
A 3
B x:3
C xexex
D

3redredx
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1 sveater originally cost $37.50. Last week,
Moesha bought it at 20% off.

A 8750

B
C 52000
D
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. What is the area of trapezoid QRST in
Square units? A-%h(i.+i,)}
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Regina’s piano teacher kept this record of
Regina’s progress on a song she is memorizing.

Piano Practice

Percent Memorized
2

B A
123456780000

Number of Days Practiced

‘How many days of practice did it take for
Regina to memorize half of the song?
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Sharice scored the following numbers of points
in’5 dart games.
8,96, 112,135, 144
‘What is the median of these numbers?
56
88
12
115
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